== A
N & o & AF & H Al A
20189 = =0l & LB H MUSH
AN ZHMLSH
M NUTE
el NE3M 245 (cho &)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
pNIpmE==an/; 15,584,447 13,327,235 2,257,212
= 848,567
Xl 788,523
= 719,681
s 13,227,676
SMAHAEE 1,286,573 845,100 441,473
X 158,756
< 140,100
[ia 987,717
N3 243t 1,286,573 845,100 441,473
Xl 158,756
= 140,100
s 987,717
QIMAN 43t 134,660 58,680 75,980
201 2et2d]| 17,200 12,200 5,000
01 At 2teltl 17,200 12,200 5,000
O+t 9,400,000 9,400
OHAEI FIIZA 3,000,000& 3,000
O= &l 4,800,000& 4,800
202 O4dl 12,960 6,480 6,480
01 = LHA YI 12,960 6,480 6,480
OXgzNads g2 =& 12,960,000 12,960
203 YR =& 3,000 3,000 0
03 A FXH S =ZH| 3,000 3,000 0
OoXgZnads g2 =& 3,000,000& 3,000
301 LAz 1,500 1,000 500
09 #HALAHIZB &S 1,500 1,000 500
OXgZNe&ds 319 &4 5 B4z
1,500,000& 1,500
306 =43 100,000 0 100,000
01 &3 100,000 0 100,000
OB EESHHE &3 100,000, 000& 100,000
SJt2el 50,591 55,320 AN4,729
< 1,200
[ia 49,391
101 @14 Hl 20,241 20,290 A 49
04 DIt Z2XNHEE S 20,241 20,290 A49
Ox 2JtEAL 2LIHRA o124d]
52,7103 x4 x06 20,241
201 Let249y| 12,350 15,550 A 3,200
01 At 22l 12,350 15,550 A 3,200
Oget==EH| 2,360,000& 2,360
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L= B
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFshtagas g2 =2 5,510,000& 5,510
OfIds 29 =¢ 4,480,000 4,480
301 gt d= 600 600 0
09 BALAHIE &S 600 600 0
OSotetd dme 4 § 243 600,000 600
402 RIZEX20l A 17,400 12,400 5,000
< 1,200
i 16,200
01 U2 E2AILE X (KM R) 15,000 10,000 5,000
OZetAI A SIS A
5,000,000 «304 & 15,000
02 RIZtXt 2 AL EZ (01X TS ) 2,400 2,400 0
OZHI X At 2,400
— B HUA 0IRBME ALY
2,400,000 =10 2 2,400
= 1,200
s 1,200
T SIIR2UEHEH 29 5,061 5,073 A2
= 2,400
s 2,661
101 @124l 5,061 5,073 VANS V4
= 2,400
2 2,661
YBIEEEP =P 5,061 5,073 A12
OSH 2 XA 5,061
— S SXH2UH2 oAl
52,7103 » 18«06 5,061
< 2,400
i 2,661
dEANE XA 338,467 205,727 132,740
201 Yet2 | 84,467 51,727 32,740
01 At 22l 65,611 40,271 25,340
O e8| 6,600,000& 6,600
Ot &435a g2 =2 22,500,000 22,500
OSEAME(ZH, AIAIE) S22l X Uy
29 200,000& 128 »20 & 4,800
OFSANE A5 U &4 2,810,000 «9& 25,290
OJIOIAIZE 2R & Xt s 3,020& %2, 126m’ 6,421
02 =24l 8,856 6,456 2,400
OAZE Bets dMIIe3 30,0002 x12& 360
OSEAE (A, &AL |
96,000& 96
OESAE F=X& &4 MRS
400,000 x12& 4,800
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUEANE =1E dotrcas
300,000& »12& 3,600
03 A2 Z Hl 10,000 5,000 5,000
OXSAZE 43 A 29 10,000, 000& 10,000
206 = Hl 7,500 7,500 0
01 MHZ 4l 7,500 7,500 0
OFSAE 2=sds 2el=8 7+
125,000 » 1200 & 504 & 7,500
301 et A= 150,000 100,000 50,000
MIIEEES 150,000 100,000 50,000
OglaAgasad e X3 150,000, 000& 150,000
307 21201 A 16,500 16,500 0
05 BIZHRI & 3 16,500 16,500 0
OXSAE SSeda A& 22|
275,000 x50 A x128 16,500
401 AlEHI L2 0hYI 80,000 30,000 50,000
01 A& Bl 79,136 29,676 49,460
OEEANE AlE |RX E=Hl 49,460,000 49,460
OBMESANE S& B 29,676,000 29,676
03 A2 2 0HHI 864 324 540
OESANE A8 |RX E==Hl
50,000, 000& *1.08/100 540
OBUTEANE 24 B
30,000,000& *1.08/100 324
HEANZE AL U3 XA 264,594 300,000 A 35,406
Xl 158,756
[ia 105,838
401 AIEHI L 2 CHYI 264,594 300,000 A 35,406
X 158,756
[ia 105,838
01 A& HI 258,613 292,840 A 34,227
OXNSLHELE 3 A AL 258,613
—ZAHAANE AL AE L AL N A
& 258,613,000 258,613
Xl 158,756
s 99,857
02 Zteltl 4,075 5,000 A 925
OXNGLHSEI AN 4,075
—ZAHAMNE ALATAE E AL HE A
& 264,594,000& *1.54/100 4,075
03 Al S HHI 1,906 2,160 A 254
OXNSLHELE 3 A AL 1,906
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M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
— ZHAIE AOEMAIE L S AIE JHE A
A 264,594,000 x0.72/100 1,906
St BSAE 4N AMNS 300,000 0 300,000
= 120,000
= 180,000
207 AT IH £ h| 84,000 0 84,000
= 33,600
= 50,400
01 A2 ES<H| 84,000 0 84,000
OEHEXAY 84,000
—MIIAE S HSAT SHAY
84,000, 000& 84,000
< 33,600
= 50,400
401 Al HI L £ 0HHI 216,000 0 216,000
& 86,400
= 129,600
01 A& HI 211,117 0 211,117
OEHIEXZ ALY 211,117
—WIAE S5 BESAY SEMY
211,117,000& 211,117
= 86,400
= 124,717
02 22/l 3,327 0 3,327
OEHEXAY 3,327
—MIIAE S HSAT SHAY
216,000,000& *1.54/100 3,327
03 A& 2 0HH| 1,556 0 1,556
OEHIEXZ ALY 1,556
—&IIAE S35 HSEAE SHAY
216,000,000& *0.72/100 1,556
AAZO L MEANY A 4 XH 35,400 32,800 2,600
o= 15,000
= 20,400
201 Bt A H| 2,000 4,400 AN 2,400
01 AP 2t2ldl 2,000 4,400 N 2,400
Ogbt=2H| 2,000,000 2,000
301 Yere A 3,400 3,400 0
09 HAIAHIBEAZ 3,400 3,400 0
O2a30 ZHHHUNE A B4
10,000 *70YH *23| 1,400
ONSAE MoUE s 4 B4
10,0003 x40 x53] 2,000
402 SI2F X0l M 30,000 25,000 5,000
= 15,000
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2AMd: MRS
M MAXES

el NE3M 245 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

o 100

01 At 22l 200 200 0
OEHIEXZAY 200
—&EAaE s AARES *& 200,000& 200
< 100
e 100

301 et d s 1,200 1,200 0
< 600
s 600

09 HALAHIEA S 1,200 1,200 0
OZHIEx= AL 1,200

—&EAE FHus ZA=E

120,000 * 1004 & 1,200
< 600
[ia 600

HUHX ==etd 1,639,756 2,065,967 A 426,211
= 781,931
< 14,000
[ia 843,825

HUX AIEES 1,639,756 2,065,967 AN 426,211
= 781,931
< 14,000
[ia 843,825

MeIE JtAANE WA 93,026 93,100 AT4
2 74,421
e 18,605

308 XXM SOIA 93,026 93,100 AT4
2 74,421
e 18,605

10 I 2 SOCHetE & X 2 E A I 93,026 93,100 AT4
O=HIEX ALY 93,026
— NS HHAANEMEAL 93,026,000 93,026
2 74,421
e 18,605

JbA 2 MIIAIE WX K& 62,000 62,000 0
= 9,000
e 53,000

308 XX EHSOIA 62,000 62,000 0
S 9,000
s 53,000

10 B3I/ 2SO ZAEEALS I 62,000 62,000 0
OEHIEXAY 50,000
— ABIE EIIAIE NS ALY 50,000,000& 50,000
= 3,000
s 47,000
OZHIEx= AL 12,000




M ZHRS
A MU X =z

el UHX AIEE

oy ox

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— NOZE JIAEYESE EZ5AY
12,000, 000& 12,000
= 6,000
s 6,000
SAIIA B2 4,000 8,160 A 4,160
201 £B-2%H| 4,000 6,000 A 2,000
01 At 22l 4,000 6,000 A 2,000
OZAIA B2 FA 4,000,000 4,000
Ol X 2el 2,749 876 1,873
201 Let24E] 2,000 0 2,000
01 At 2t 2l 2,000 0 2,000
O&AXel d& AHIl 7 200,000 109 £ 2,000
206 = Hl 749 876 A127
01 MHZ 4l 749 876 A127
O&dRHNE SEIAM AME 2 399,000& 399
OSARME SEZA AIEXHHA I 7€
3,500& 10091 13 350
FETEAMY (OB E 1002ts 22) 108,000 108,000 0
< 5,000
s 103,000
402 RI2EXt20| ™ 108,000 108,000 0
< 5,000
[ia 103,000
02 QI 2 A EZ (OIS ) 108,000 108,000 0
OZHIEx= AL 108,000
— 28 1008 XA
108,000, 000& 108,000
< 5,000
e 103,000
AN UK SS S X2 ALY 691,396 1,111,831 A 420,435
= 361,230
s 330, 166
402 RI2EX=20| A 691,396 1,111,831 A 420,435
= 361,230
s 330, 166
03 212t &AL S HI 691,396 1,111,831 AN 420,435
O=HIEXAY 691,396
—oHolAL HSE OUX NHEOE ZEAY
691,396,000 691,396
= 361,230
[ia 330, 166
NEX2 (AMTHEANEHX-ZB2E) 536,000 320,000 216,000
= 268,000
[ia 268,000
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X{ XH -
S =

£

ZHnESn
A +==0td

COUX AIEES

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T AEHZXEUY 536,000 320,000 216,000
= 268,000
s 268,000
01 A& HI 532,623 317,696 214,927
OIHIE= At 532,623
—AMIETAE(ZF2Y) HLZLHAIE &
A 32,623,000& 532,623
= 268,000
[ia 264,623
03 Al S HHI 3,377 2,304 1,073
O=HIEXZ AL 3,377
—MIAETANE(Z2Y) HLZLHEANL 4X
At 536,000, 000& *0.63/100 3,377
XX 2 (A THAH U X -= X5l 2) 14,360 32,000 A1T7,640
= 7,180
s 7,180
401 Al HI X 201 14,360 32,000 A17,640
= 7,180
[ia 7,180
01 A& HI 14,360 31,654 A1T,294
OZ3HIE= A 14,360
— Y SN2 HSZLIAE XA
14,360,000 14,360
= 7,180
[ 7,180
N2 (ATHEANHAX-BSAIE) 86,200 160,000 AT73,800
= 43,100
i 43,100
401 A& HIZ 201 Y] 86,200 160,000 AT73,800
= 43,100
i 43,100
01 A& HI 85,424 158,270 AT2,846
OZHIEx= At 85,424
—S3AME BHAFLIANE EXNAS
85,424,000& 85,424
= 43,100
[ia 42,324
03 Al 2 0HHI 776 1,730 A 954
O=3HIEXZ ALY 776
—33AME HAZFLTIANE EXNASY
86,200,000& *0.90/100 776
HASSESH(HAHS HNEX=XA) 42,025 0 42,025
= 28,000
s 14,025
308 XX EHSOIA 42,025 0 42,025
= 28,000




M ZHRS

BH: UK +20E

E2l: UK AEES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 14,025
10 S22SB4 AE AR 42,025 0 42,025
O=HIEX ALY 42,025
—HESSTFAMI(HLAS NUX=ZX)
42,025,000 42,025
= 28,000
[ia 14,025
nESAH HA 7,895,309 7,363,788 531,521
= 60,200
= 484,354
s 7,350,755
WESOHMEAID Ol & 893,105 1,239,385 A 346,280
WESetdE A2 22l 893,105 1,239,385 A 346,280
201 L2l 523,345 445,245 78,100
01 At 22l 324,225 253,825 70,400
Oget=&H| 4,645,000 4,645
O242H ¥ 9\ 28 25 2%
314,700,000 314,700
OfIds 29 =¢ 70,0003 128 %23 1,680
Oz &l 3,200,000 3,200
02 =24l 199,120 189,920 9,200
O=S==Z A A 144,400
—wNstss #Ies 95,000,000& 95,000
- DEUFAILS FIIQHFY 4228
17,000,000& =13l 17,000
—EZ2YHECOCTVald 2 2,700,000& x12& 32,400
OAIE ZHI S X 54,720
— S8 FEL RUHEI NS RAES
1,260,000& *23| 2,520
— 3L SAESZE ALY FXES
350,000& » 123 4,200
— REEEX ZEAMLAE RAES
3,000,000& 3,000
~DENS) Y BBS RNES 8Y
25,000,000& 25,000
— XS AN TV RNEL BY
20,000,000& 20,000
202 044l 8,640 8,640 0
01 = LH o4 1l 8,640 8,640 0
Ousetd R4 8,640,000 8,640
206 M= Hl 8,000 6,000 2,000
01 =8l 8,000 6,000 2,000
OdHALZ=E WSCHHEXE S &X
100,000& *30H 3,000




AN ZHMLSH
M DsHE A
SR WSHAEAD oY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZFFA, HOIE S HS ¥ 5,000,000& 5,000
301 et a s 1,500 1,500 0
MIEEdS3 1,500 1,500 0
OXNsSi =828 &1 Loz
100,000& »15AH 1,500
307 glz2+ol & 3,000 3,000 0
02 YAFHAANGFEX 3,000 3,000 0
OZH2&Ia ASdA WsSXA
3,000,000& 3,000
401 Al HIZ 2018 348,620 775,000 A 426,380
01 A& HI 345,812 769,177 A 423,365
OQuUSHHAEE EX & E= 225,000
—LED &I X ¥ |FAUE+
30,000,000& 30,000
—wWsSHMEX X & HHl 30,000,000 30,000
—WEANMLCHIA X &L Hbl
20,000, 000& 20,000
—AOI2] B&S &X ¥ |XNES
15,000, 000& 15,000
—LF nsSdsI U4 2 WA
30,000,000& 30,000
— 2384 A5l &X 60,000,000& 60,000
—AEE E23t% &X 20,000,000& 20,000
—BZHETS BN 20,000,000& 20,000
Ofolursst=s ZH 24X & Hl
49,460,000 49,460
OsHEHA SHMH 71,352,000 71,352
03 Al 2 THHI 2,808 5,823 A 3,015
OusotEAIEdE &1 & E=
225,000,000& *0.72/100 1,620
ORontsts FIH X & FH
50,000, 000& *1.08/100 540
Os0EHA &F& 72,000,000 «0.90/100 648
258 XA 7,002,204 6,124,403 877,801
= 60,200
< 484,354
i 6,457,650
HAd B3 N2 896,892 889,403 7,489
< 14,760
i 882,132
101 @124 dl 42,169 34,680 7,489
< 14,760
s 27,409
04 JIZHHZ2XREE S 42,169 34,680 7,489
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ool 2sUH XS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZHIEx= A 42,169
— SN ESTAN(EY)
60,2403 x70H x4 16,868
< 5,904
[ia 10,964
— SN ENELTA(FL)
90,360 x70H x4 25,301
< 8,856
[ia 16,445
307 21201 A 854,723 854,723 0
09 2+=HAHEEXS 854,723 854,723 0
OgHIld &42483 s 854,723,000 854,723
HAHH X 1,630,000 920,000 710,000
< 350,000
s 1,280,000
307 21201 A 1,400,000 700,000 700,000
< 350,000
[ia 1,050,000
09 2HAHAEXS 1,400,000 700,000 700,000
OZHIEx=AL 700,000
—H==ded 424 700,000,000& 700,000
< 350,000
s 350,000
Os0HE Ha HLd23H 700,000, 000& 700,000
405 RHoHF S HI 230,000 220,000 10,000
01 AL EZFH S 230,000 220,000 10,000
O3gHAa ¢ 230,000, 000& 230,000
2gHd A2 4,005,218 4,151,000 A 145,782
307 21201 A 4,000,000 4,000,000 0
09 2+=HAHEEXS 4,000,000 4,000,000 0
OUUEHXIMMMNEN HE SFAHMH Qa2 BX
4,000,000,000& 4,000,000
403 XSS X201 & 5,218 0 5,218
02 S 2S0HHEAEE 2 E AL 5,218 0 5,218
O=IJIAE X &AL 5,218
—2018E A 2HIB2ACANAE 2=
5,218,000 5,218
s&8 nEd d=2=A9d 223,294 0 223,294
= 50,000
< 93,294
s 80,000
301 et a3z 223,294 0 223,294
= 50,000
< 93,294
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2N ZHRED
sSux Ha

X ZH -
S = S S
SH X

el

M0 kJ 0

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 7,100
09 2LHHEXZ 20,400 0 20,400
OZHIBEXZAY 20,400
— 20188 & XZO0IEHIDEX &= EXAY
20,400,0008! 20,400
= 10,200
o= 3,100
= 7,100
EXS X 2,186,530 1,617,054 569,476
Xl 464,000
= 30,000
= 1,692,530
ENSA ¥ M XM 2,186,530 1,617,054 569,476
Xl 464,000
= 30,000
= 1,692,530
EXNSX XA 766,914 1,542,430 ANT75,516
201 et 9,430 20,130 A 10,700
01 AP 22| H| 9,430 20,130 A 10,700
Ogt4f=2H| 6,050,000 6,050
OfIEs 89 ¢ 980,000 980
OF=1=1:] 2,400,000 2,400
202 044l 5,184 0 5,184
01 2L I 5,184 0 5,184
OEXNKX g4 5,184,000 5,184
301 LBt A= 2,300 2,300 0
09 SHAIAHI EAZ 300 300 0
ENSX &g EHAI 24 30,0008 *10H 300
11 J|EtE A= 2,000 2,000 0
OENEX Q2RZBX Zaz 2,000,000& 2,000
401 AlEHI 2L 2 0HY| 750,000 1,520,000 A 770,000
01 Al&H| 745,050 1,513,628 AT768,578
O=ZEBHOIA &=L SEEHZA
695,590,000& 695,590
OJIYEX JIEtAIE X 49,460,000 49,460
03 Al 20| 4,950 6,372 A 1,422
O=ZEH0I3 AEUZE SEEHZA
700,000,000< x0.63/100 4,410
OJILKX JIBLAIE X
50,000,000 *1.08/100 540
Xeod XA 3,560 4,560 A 1,000
201 LBt Y| 2,360 3,360 A 1,000
01 AP 22| d| 2,360 3,360 A 1,000




FAN: FHLSH
A EXNFA
thel: EUsX L M4HEHX 24 (SH9: &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O e8| 2,360,000& 2,360
301 L2 A F 1,200 1,200 0
09 HALAHIEA S 1,200 1,200 0
OJlIgoiz Mg A 24
10,0002 30 300
OFY & SA)Ng=d EE3 H4ALL 24
30,0003 x 159 x23| 900
A28 EZMA ALY 100,000 30,000 70,000
< 30,000
e 70,000
401 Al B2 2B 100,000 30,000 70,000
= 30,000
e 70,000
01 A& HI 99,100 29,676 69,424
OEHEXZAY 99,100
—2nBJg SIMEAY 99,100, 000& 99,100
< 30,000
e 69,100
03 Al 2 THHI 900 324 576
OEHIEXAY 900
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